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2 VI vs Du

850 ~

800 -

750

700 -

650

600 -

1 VI vs Du

700 -

650

600 -

550

500 -

1300 1400 1500 1600 1700 1800

1200

1300 1400 1500 1600 1700 1800

1200

) L
a
o
[
=~ L
T T T T T T T
< N o © © < N
o o o < < < <
o o o o o o o
) L
a
-
[

0. 44 -
0.42 -
0. 40
0.38 -
0. 36 -

0.25 0.50 0.75 .00 25 50 75 2.00

0.00

0.25 0.50 0.75 00 25 50 75 2.00

0.00

>
o)
o
»
o~
T T T T T T T

o o o o o o o

~ ITe) [N o ~ To} N

o o =) > © 15 0

1 setVI

——
L _

76 -
74 -
72 -
70 -
68 -
66 -
64 -

0.25 0.50 0.75 .00 25 50 75 2.00

0.00

0.25 0.50 0.75 00 25 50 75 2.00

0.00



NA)

2 (fgArea

NA)

(fgArea =

1

=
o
*
- O
o O -
w
T T T T
o o o o
o o o o
[ee) © < N
— — — —
N
o
—
*
- O
o O -
ol

2000
1800
1600
1400 ~
1200 ~
1000

0.25 0.50 0.75 .00 25 50 75 2.00

0.00

0.25 0.50 0.75 00 25 50 75 2.00

0.00

=

)

*

- o

= T L

oo

T T T T T T T T
o~ o 1<) © < ~ o =)
~ ~ © © © © © Te)

==

)

=

*

- O

= T L

oo

T T T T T T T T
o~ o 1<) © < o~ o ©
~ ~ © © © © © To)

0.25 0.50 0.75 .00 25 50 75 2.00

0.00

0.25 0.50 0.75 00 25 50 75 2.00

0.00



3500

3000

2500

2000

1500

1000

500

Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

Warning: col

[’ EcFgro’,

"EcPltng’

is missing

25

50

75

100

125

150

—>— EcFzExp
—>é—  ECdef
—>— water_ec |

175



Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AE_E

2.0

Warning: col ['minFVlraw',

"minFVOraw' ] is/ missing

minFVI
minFVO

2.200

2.175 A

2. 150 A

2.125

2.100

2. 075 A

2. 050 A

2.025

2.000

Warning: col [ ETcA1', 'ETcA2raw’, 'ETcA2’', 'ETcA'] is missing

ETcAlraw

1.0

0.2

0.4

0.8

0.8 -

0.6 1

0.4 -

0.2+

Warning: col [ ETcA2raw’,

"ETcA2avg’, 'ETcA2'] missing

0.0

2200 -

2000

te¢

ECopt
ECC
ECI
ECO

6. 50

6. 45

6. 40

6. 35

6. 30

6. 25

XX

PHopt
PHC
PHI
PHO

31.5 A

31.0 -

30. 5

30.0

29.5 -

29.0

28.5 -

[ _
e " L L e

Warning: col ['WCperMraw',

"WCperMavg' ] is| missing

0.50

0. 45 -

0. 40

0. 35 A

0.30

——
+
——

minDe | taM
avgDeltaM
stdDeltaM

0.25 A

0.20

0
R T S L T

30

28 A

26 A

® @ o—

—0—  begh
—0— maxM
—&®— minM

24 -

22 -

20

o!
R T S . &

adjFVOR

-0. 02 ~

—0. 04 ~

Warning: col [ adjFVIRraw’

"adjFVIR", "ad|jFVORraw' ] is missing

o
(] FRC
o

FRA

FRraw
FR

| SRR P

—0— LAl

0.0 2.5 5.0 7.5 10.0 17.5 20.0
180 - :
1
160 :
1
140 - :
1
120 4 :
1
100 + :
1
80 - :
1
i 1
60 : e postFgEtraw
40 - 1 —O— postFgFtavg
! —@— postFgEt




FgDaily




P6AE_E

—&— ETcl
—®— ETbai

VN

250 -

RH

—&@— ETclis
—0— ETcPT
—@— ETcRn

650 -
600 -
550 -
500 -
450 -

330

320

310 -

300 -

85

80

75 -

70 A

65

60 -
200




00
0.75
0.50

1213 +®v_ohm QOPM h&Ohm w__0hm omm

-0.25

_0hm

-0.00

_mnhm

--0.25

Q

-0.50
-0.75
-1.00

oa>Q

omam

pR

ETol ETbai

ESo

ETcI ETcldef ETcP ETcPT ETclis



ETcl

ETol

VN

RH

o o o o
250 - ] - ] - ]
o o o o
o o o o
200 ~ 7 9 A oo | © 7 1 e@®
150 ] - ] - ]
o o o o o
100 - - - - -
o o o |o o
v * o ‘oo | § °¢
1000 - ] - ] - ]
800 - . - . - .
o o o o o
600 - . - . - .
400 - - - - - -
o o o |o o
T T T T T T T T T T T T T T T T
o o o o
22 - [ X . ® - 1 @ e - [
o o o o
o o o o
20 . - . - .
o o o o o
18 - ] - ] - ]
16 {e . : o o . o
T T T T T T T T T T T T T T T T
85 - . - . - .
o o o o o
80 . - . - .
75 1 - - - - -
70 1 - - - - -
65 - - - - - -
60 . ®e o o | . o0 | . o ooo | o |@ o .
o o o o o
650 - . - . - .
600 - - - - - -
550 - . - . - .
500 - . - . - .
4501 ¢ 1e Te 1 o 1 o
T T T T T T T T T T T T T T T T T T
o o o o o
350 4 {eo Je ] o Jo ]
340 . - . - .
330 - ] - ] - ]
320 . - . - .
o o o o
310 - ] - ] - ]
o® (4 e L
300 - o o - & - « ©*1s 1 ]
T T T T T T T T T T T T T T T T T
100 150 200 250 400 600 800 1000 16 18 20 22 60 70 80 500 600 300 320 340

ETcl ETol T RH VN I



100

80

- 60

hour

- 40
20

9:45
11:25
13:40
1 1 1 1

Q) I/ \2\
45%'g§645§ *égé
TV




P6AE

BfiE) | EBATK (7)) | EME (EAH/H) | XX R

09:45 150 60.0 5 FiH#A@09:45 (FFATEEER)
11:25 150 60. 0 & FHpe11:25 (REERKSE)
13:40 150 60. 0 5 FiHde13:40 (REEREE)
21t 450.0 (3)%) 180.0 32 3KEC: 2200.0, PH: 6.5

FEREBIEC (2006.0) S5FMEC (1545.0) REK K, HHRE

E&KEC (1145.0 vs 2185) {RIK




FRV (ml plant-1)

ET (ml/hr/plant)

P6AE_E, Day=2 (2025-04-07)

VI, VPRV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET

720

I46 127

00 00y

198

- 3000

- 2000

- 1000

TargetEC=2300. 0, | TargetSetEC=2200. 0

0.2~

TargetPH=6. 5, TargetSetPH=6.5

908 3
75 -
50 1

25 A

I
1
ByWoFv @D2 03?18: ET=198 Fg=180.0 Ro=20.0

4 300

- 200

- 100

cumET (ml/plant)

1.0

22 23

0.8 -

BH | B [ BH [ BA [ A5 [R5 | A5 | RE | F5 | 5 | BE | BB | BE | IR

E3 E3
B B

0.6 1

0.4+

0.2~

800
600 -
400 -

200 ~

\ A A Warking:,‘:ol Al o

"PPFD_obs’] is missing

25 -

20 A

15

Warning: col ['T_obs/, "To obs'] is missing

Warning: lcol ['RH obs’, 'RHo obs’] is miss]

.0 0.2 0.4 0.6

1.

0

FRV (ml d-1)



hour

9:45
12:35
1 1 1 1 1 1 1
‘/

4 @%f%
@

100

80

60

- 40

20



P6AE

Bria) | GEBRRTIC (FD) | El= (BH/HK) | XS TR

09:45 210 60.0 5 Ri%@09:45 (KRFE1EREE)
12:35 210 60. 0 = BRi%e12:35 (RAEFERER)
=2it| 420.0 (%) 120.0 32 KEC: 2200.0, PH: 6.5

WREHRERmA (1.5) , HEE

HERRHLERE STAEERT (289.0 : 84.0), WHIARFERME
ERGEB RS R IR AR B I (210.0 vs 150.0))

ELIASSPRIERT84. 0 ml.

REXREMEC (2005.0) 5FMEC (1270.0) RHEKK, BT
[El;%EC (900.0 vs 2185) {R1K%



P6AE_E, Day=1 (2025-04-06)

60 f——————F—————fF————fF—————fF = T
VI, V0, FRV, ET - VI, V0, FVI, EVO, FRV, adjFRV, ET
40 - 1759 - 2000
20 720 732 [ 1000
480
I36 61 Warning: lcol [FVI',| "FVO’'] missing I 6 132
0 " = -0
_ ( o ) —— ME HBs6
— 300 1 FRV —— maxM
+
5 - 54
a 200 + Ll
— =
E - 52
= 100 -
o ] T T PP §———— - - m— - ] 5o
o | [ | | P 11
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
2908 Fom————E—————F = ——F——————F——————F-—————F-—————f——————F——————f——————f——————f—————] A
TargetEC=2300. 0, | TargetSetEC=2200. 0
2100 -
2000 - e * — oo
1900 1 —¢—  ECB*10%
[ ) ECC
1800 +
7.04 TargetPH=6.5, TargetSetPH=6.5 —>%—  PHBx10% [
o PHC
- M e e 6 M A
o (] [
[ (] [
[
6.0
300 : ! 4
= Bylnit @D2 03::19: ET=200 Fg=110.0 Ro=0
c : - 1000
200 :
o 1
< 1
p— I -
£ 100 - : 500
i I & e @ e & o
1
j........F.=.—!og-0=‘:::3;ocooocoo
3087 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 ES ES == HEE HEE ES == E3 ES ES
’_D B B B B B B B B B B B B B B B B B B B B B B B B
c 1 - 1000
% 200 4 ByEt @D1 18:06: ET=257 Fg=915. 0 Ro=nan \ 4 ‘I © \ 4 \ 4 \ 4  J
~
o 1
< 1
E 100 - : r 500
— 1
- —¢—e—o—e—o—o
e e — — — —— | — 0
3087 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
= B | g | B | BB | BB | BB | BB [Z2=| B | BE i 5 5 5 | 25|22 B | B | 25|25 B RERS
c 1 - 1000
% 200 4 ByWoFv @D2 03::19: ET=132 Fg=120.0 Ro=7.0
~
o 1
S |
E 100 - i r 500
m |
I 8 8 8
ob—ple ol o o o o o o geg oo o688 3$ $ $ 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
osl M5 | B | B |5 | M [BE | 5 [ | BE | A5 i 5 5 REERERERREG REAREFANES RERS
0.6 -
0.4 1
0.2 A
|
| _obs
PPFD_obs
'.“‘ e v f#

hour

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



54.

54.

53.

53.

53.

52.

52.

51.

51.

T
800

T
700

T
900

T
1000

500
m=655,m FV0=0
—&— M_E
5
0 -
5
0 -
655 660 665
. m=850,m FV0=0
—&— ME
5
0 -
5
0 -
360 855 8é0

m=485, FV0=0

55. 5 1

55.0 -

54.5 4

54.0 A

53.5 -

53.0 A

—0—

M_E

450
m=670,n FV0=0

T
485

T
495

54. 50 A

54. 25 A

54. 00 A

53. 75 A

53. 50 A

53. 25 A

—0—

M_E

675
m=910,n FV0=0

670

T
680

53.0 A

52.5 4

52.0 -

51.5 4

—0—

M_E

910 915

920

m=580, FV0=0

55.5 -

55. 0 -

54.5

54.0

53.5 A

53.

53.

52.

52.

52.

52.

51.

53.

53.

52.

52.

52.

52.

—0—

M_E

580

5é5
m=750,n FV0=0

T
590

25 A

00 -

75 -

50 A

25 -

00 ~

75 -

——

M_E

750

7%5
m=940,n FV0=0

T
760

25 -

00 ~

75

50 -

25 A

00 ~

—0—

M_E

940

945

950

m=590, FV0=0

55. 4 -

55. 2 -

55.0 A

54.8 -

54.6

—0—

M_E

590

5é5
m=765,n FV0=0

T
600

53. 75 A

53. 50 A

53. 25 A

53. 00 A

52. 75 A

52. 50 A

—o—

M_E

765

770

775




